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ESES ] 9,444,262 9,437,562 6,700
2 21,064 21,064 0
< 59,497 53,797 5,700
Al 9,363,701 9,362,701 1,000
AHEZRSY 8,838,147 8,830,447 7,700
2 2,000 2,000 0
= 23,826 18,126 5,700
Al 8,812,321 8,810,321 2,000
AHEBSY 365,847 363,847 2,000
201 YBr2 | 70,840 67,840 3,000
01 AlR 22l 67,340 64,340 3,000
OEETRSE Y] 3,000 0 3,000
oWHUS Y2ET S 3,000,000% 3,000 0 3,000
202 04t 7,557 8,557 A1,000
01 SLHOYI 7,557 8,557 A 1,000
OAHEZ P27 8,508, 0002 8,508 9,508 A1,000
ESEETEES 74,400 68,700 5,700
= 23,026 7,326 5,700
Al 51,374 51,374 0
201 YBt2 | 14,400 8,700 5,700
= 8,310 2,610 5,700
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Al 3,991,050 3,545,150 445,900
Heg=s1Egs 1,166,750 979,850 186,900
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Ol A 696,400,000 696,400 496,400 200,000
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= 248,200 0 248,200
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Al 83,395 0 83,395
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< 259 259
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oh& F 22,588,376 22,608,376 20,000
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< 6,270,000 6,270,000 0
Al 15,778,376 5,868,376 90,000
ot el 22,588,376 22,608,376 20,000
= 540,000 470,000 70,000
= 6,270,000 6,270,000 0
Al 15,778,376 5,868,376 90,000
SHERX 24 1,656,376 1,746,376 90,000
201 B2 Y| 77,364 67.364 10,000
01 At 22l 23,714 13,714 10,000
OEPE=: 18,000 8,000 10,000
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18,000,000 18,000 8,000 10,000
401 Al HI L 2Ol 1,570,000 1,670,000 100,000
01 Al&H 1,561,270 1,660,460 £99,190
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700,000, 0002 %99, 37% 695,590 596,220 99,370
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OGHE SXUEH(XLSE, A5HA)
700,000, 00021 *0.63% 4,410 3,780 630
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2 20,000 10,000 10,000
04 JIAH22RSE S 20,000 10,000 10,000
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= 20,000 10,000 10,000
201 Yet2 | 80,400 20,400 60,000
=2 80,400 20,400 60,000
01 At 2H2l | 72,000 12,000 60,000
ORI 32,000,00094 32,000 12,000 20,000
= 32,000 12,000 20,000
OEPE= 40,000 0 40,000
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